
Mathematics 1275/D225
Instructor: Suman Ganguli

Quiz #1
Due: Wed Feb 14 Name:

Question: 1 2 Total

Points: 2 8 10

Score:

1. (2 points) Evaluate the value of the following quadratic polynomial if t = 2:

1

2
t2 − 3t+ 1 =

Solution:

1

2
t2 − 3t+ 1 =

1

2
(4)− 3(2) + 1 = 2− 6 + 1 = −3

2. (8 points) Simplify the following expressions:

a.

3x2(x+ 2) =

Solution: 3x2(x+ 2) = 3x3 + 6x2

b.

2(x− 4) + (x2 + 3x− 1) =

Solution: (2x− 8) + (x2 + 3x− 1) = x2 + 5x− 9

c.

(y + 4)(y + 1) =

Solution: (y + 4)(y + 1) = y2 + 5y + 4

d.

(3x+ 5)(x− 3) =

Solution: (3x+ 5)(x− 3) = 3x2 − 9x+ 5x− 15 = 3x2 − 4x− 15


